77 R%:2PD

FERIBLL FZA1R—% B1EL |28 (538 (AN |0 |BB6W [FEMRA v b |BHHRA Vb
1{FH)IH 20 20 20 15 12 20 107 95
PAVEZN PN 12 12 20 15 15 74 74
3| BREE 20 6 26 26
4|FAHBE 15 10 25 25
5[0 111&4 8 8 16 16
6 [ALAFIR 10 4 14 14
JLHEBR 15 15 0
B R EEA 15 15 0
EEEF 12 12 0
<A 12 12 0
MAIER 10 10 0
SMEH 2 3 4 5 5 7 4
75 24:FM
F RIERI FZA1R=% F1EL |28 5538 |ZBAMk |0 oW [EMLRA b |BHRA Vb
1{BHmE 15 20 0 20 15 70 70
2|7BXk—3 20 4 20 0 8 12 64 64
3| B R 15 10 0 33 33
4|4 = =4 0 10 10 30 30
5[5 beA 3 15 1 30 30
6| LEE 12 8 28 28
7R 12 8 1 0 27 27
8| A —ik 20 1 27 27
ILTEF 10 10 0 0 0 20 20
10| FHEIE 1 12 2 15 15
11| AR TFHx 0 10 4 14 14
122|247 1 4 4 3 12 12
13|BH51T 2 3 5 5
13 |1ERER R ER 1 5 5
15|k 0 0 2 2
16|7K8 b > v 0 2 2 2
EENA 20 20 0
Lo+a 12 12 0
IINFRRFFA 12 12 0
KO%kE 15 15 0
& EE 15 15 0
PR IE 6 6 0
HEER 6 6 0
HEEET 6 6 0
ESEERRE 6 6 0
W 2 2 0
HEE 2 2 0
RS 1 1 0
R 1 1 0
OKATATSU 1 1 0
RAsE 0 0 0
SMEEH 11 13 11 18 11 14 13




7 7 Z4:NF1

FERNERL FoA1—2% F1E (F28 (B35 (48 |B58 |B6Hk |FMTA b |BMRA b
1:R&o07 15 15 20 8 15 12 85 77
2|fHERS 12 20 8 12 10 20 82 74
3| 3ARR 12 10 20 15 57 57
ABLDDBVE 6 12 10 15 8 10 61 55
S|EHEEE 10 15 25 25
eSS 8 10 6 24 24
KHE 20 20 0
IBAFE 20 20 0
40 B 12 12 0
= 8 8 0
MNEA 6 6 0
EFH &G 4 4 0
r &S 1 1 0
K HEY 1 1 0
SMEH 7 4 6 6 6 7 6
o 7 2%:NF2
FRIBRL FoA1—2 E1E (28 (B34 |48 |58 |68k |ERTA Vb | BMEA b
1{F v 15 15 4 10 20 12 76 72
2| EHER 4 10 15 15 10 10 64 60
3| BEXA T 20 2 20 8 8 58 58
4| RFE 6 3 12 15 44 44
5| EE 8 10 1 36 35
6| B & BB 12 0 15 33 33
7B ARER 0 20 26 26
8|HTH S 1 3 2 20 26 26
I RE 4 12 4 20 20
S S ON-9 6 4 4 14 14
11| ARE 1 12 13 13
12|$BBme 10 1 0 11 11
13| EEMIT 8 0 2 10 10
14|23 0 6 6
15| KEEfETF 0 1 0 4 4
16 (L= mE—ED 1 0 1 1
REIRFE 20 20 0
BHIEEAN 12 12 0
RAEX 3 3 0
AN 3 3 0
KERSE 2 2 0
HENE 2 2 0
IEHAFE 2 2 0
FFEE 1 1 0
IBH F& 1 1 0
BiTHi— 0 0 0
INBE—HE 0 0 0
HLEX— 0 0
BRI 0 0
R = 0 0
Hf BA 0 0
SMAEH 13 12 12 14 13 16 13




277 24:SF1

FERIBLL FZA1R—% B1EL |28 (538 (AN |0 |BB6W [FEMRA v b |BHHRA Vb
1|BREEX 20 12 20 15 6 20 93 87
2[|v v a2k 10 15 15 8 8 56 56
3L w 12 10 4 10 15 51 51
4| AR 15 10 8 12 48 48
S|EHE 12 15 12 39 39
6[Y N 20 12 32 32

{—2a 20 20 0
HEIE%E 20 20 0
N 10 10 0
- 8 8 0
KHE 6 6 0
FiREH 0 0

SMEHK 5 5 9 6 3 6

U 7 Z%:SF2

F RIERI FZA1R=% F1EL |28 5538 |ZBAMk |0 |BB6W [EMRA b |BHRA v b
1A HRHE 20 0 12 0 20 3 55 55
2| NE 12 20 15 1 1 52 51
3[EH/BBEA 0 20 0 20 40 40
4] < FW 10 10 10 2 6 38 38
5| EHRE 20 0 12 32 32
6lIEe & 0 12 1 15 1 29 29
TIARERS 8 3 0 10 29 29
8| BAES 0 6 8 8 28 28
9 L& 1 4 15 0 20 20

102 HE 1 6 10 17 17
11|18 AZ8A 12 4 16 16
12| 1L KSRER 0 15 15 15
13 |BREEEE 3 8 4 0 15 15
14|/1\853050 12 0 12 12
15|tz 0 8 0 1 9 9
16 |#RE— 0 2 0 0 6 6
17| F5 25 A36 0 6 0 0 6 6
18| /BFH 18 0 1 0 4 5 5
19|AQU 2 3 5 5
20( i B EARS 0 4 4 4
21| BBE 2 0 0 2 2
221 &) 0 0 0 2 2 2
74 15 15 0
E)IER 10 10 0
=HEKN 6 6 0
EERE T 3 3 0
HEiE 2 2 0
IR 1 1 0
[EZ(EF 0 0 0 0
HhEA 0 0 0 0
ERG AT 0 0
NBZE= 0 0
BRBE 0 0 0 0 0 0
=M 0 0
RS 15 15 0
SMEEH 20 20 16 21 18 19 19




77 A%&:AWD

FERIBLL FZA1R—% B1EL |28 (538 (AN |0 |BB6W [FEMRA v b |BHHRA Vb
12l 20 15 3 15 15 68 68
2|BEEES 20 12 12 12 6 62 62
3| EEER 15 10 20 51 51
4|hBIEZ 10 12 15 10 49 49
5|FEksLE 8 10 10 8 8 45 44
6 [{BE—1 20 10 30 30
7|8 12 20 20
8| HHEA 8 6 3 17 17
HER 15 15 0
TEREM 20 20 0
7Y — 20 20 0
=N 12 12 0
BRE—& 4 4 0
1L R0 4 4 0
pinfealics 0 0 0
SMEHK 5 4 5 12 6 8 7
75 24:HIS
FEREfL N PALF F1EL |28 5538 [ZBAEk |5 |BB6W [ERMRA v b |BSRA Vb
1{FEMs 20 10 20 20 70 70
2[R 15 20 15 12 62 62
3[TEE 12 12 12 15 51 51
4| FHAE 15 10 10 35 35
SMEH 3 4 4 0 4 0 4
75 24:A1
FERIEfL N PALE F1EL |28y (553 (AN |5 |6 [FMLRA b |BIRA Vb
1= T 15 20 20 20 20 95 95
2% 12 15 15 12 10 12 76 66
|FIEE 20 12 12 10 12 10 76 66
dl=~v 6 10 10 15 47 47
5[TOMMY 3 6 8 8 6 34 31
6|7y — 15 15 30 30
7(AQU 8 8 8 24 24
INE AL 20 20 0
N 10 10 0
EE 8 8 0
BEE=ER 4 4 0
ERER 4 4 0
ERIZ N 0 0
SMEH 8 6 6 9 5 6 7




75 A4:A2

FERNERL FoA1—2% F1E (F28 (B35 (48 |B58 |B6Hk |FMTA b |BMRA b
1= 20 20 20 20 20 100 100
2|ERIZH 12 8 10 3 10 43 43
3| EHER 15 15 4 40 40
4|FBKFE 10 12 38 38
5| R B 12 4 33 33
6|71 7 15 15 30 30
T|wRAER 4 6 15 0 2 27 27
8|/NBFHAE 10 1 15 0 26 26
9EL P NE 1 6 12 19 19
10| KT 1 12 19 19
11| RBBEIL 3 4 4 0 2 13 13
12|=fEsE 0 10 3 13 13
13| /1B 2 0 10 12 12
14{F+H L— 1 1 2 2
= ER 20 20 0
EE—RK 12 12 0
W38 1E 8 8 0
(PNl 8 8 0
EPZ-& = 8 8 0
EMRZEAN 4 4 0
NN YN 3 3 0
FEE— 2 2 0
TR 0 0 0
AR 0 0
RE 0 0
BKIER 0 0
SHRIE 0 0
ShE# 13 7 11 18 12 14 13
75 24:A3
FERNERL N AT FL1E (28K (B35 |B45L |ZB58L |68k |FMATA b |BARA b
1{zh@fkxTR 15 20 10 45 45
2|7 — 20 12 32 32
3| FEE— 15 15 30 30
TR 20 20
KEFR 12 12
SMEH 2 0 3 4 3




